
8. Determine the distribution of the internal normal force, shear force, and moment at point C. 2~ (25, 2 ) NAF N , 

2~ (45, 3 ) NBF N  and 2~ (55, 2.5 ) NCF N  are normally distributed and independent with each other. 

 

Solution 

(1)                                                         0; cos20x c cF N F    

cos20 23.49 N
c cN F     

cos20 1.88 N
c cN F     

Thus, 
2~ (23.49,1.88 ) NCN N .                                                                  Ans. 

(2)                                                    0; sin20y c A c BF V F F F     

sin20 1.19 N
c A c BV F F F         
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sin 20 3.71 N
c A c BV F F F         

Thus, 
2~ ( 1.19, 3.71 ) NCV N  .                   Ans. 

(3)                                       0; (1.5) (1) sin20 (3) 0c c B A CM M F F F       

(1.5) (1) sin20 (3) 36.07 N m
c B A CM F F F            
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(1.5) (1) sin 20 (3) 5.55 N m
c B A CM F F F          

Thus, 
2~ ( 36.07, 5.55 ) N mCM N           Anticlockwise        Ans. 
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